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Question 1. Express each of the following as a rational number of the form %, where p and q are integers and q # 0 :.
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Question 2. Find the values of the following:
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Answer:

(i) We know from the property of powers that for every natural number a, al= %, Then:

37legt =14
_ 443
T2

u|

EN

Z
12



(ii) We know from the property of powers that for every natural number a, al= %,

Moreover, a%is 1 for every natural number a not equal to 0. Then,

(30 +4—1) % 22
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=(1+ Z) x 4

= % x 4

=5

(iii) We know from the property of powers that for every natural number a, a’l= %.

Moreover, a’is 1 for every natural number a not equal to 0. Then,

_ — —1.0
3 Lig 1y 5 1) =1 —> (Ignore the expression inside the bracket and use a® = 1)

(iv) We know from the property of powers that for every natural number a, a1 = %.

Then:
1

-1 -1- 4
() =) =69
=07

=-1

Question 3.Find the value of each of the following:
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(i) (27 x 474 =272
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=4+9+16=29

(i) (27" x 47 =272
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i) (5" x27h=67!

Question 4. Simplify:
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Question 5. Simplify:

(3 +22)x (1)
i) (3=2%) x ()
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Answer:
H(G7+22)x (4)
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Question 6. By what number should 571 be multiplies so that the product may be equal to -7 12

Answer:

Using the property al= % for every natural number a, we have 571 = % and (—7)_l = —%A We have to find a number x such that
1 _ -l

FXT 5

Multiply bith sides by 5, we get

_ =5
X= =



. . =5
Hence, the required number is ——

1 -1
Question 7. By what number should (%) be multiplies so that the product may be equal to (—é) ?

Answer:

-1 4t
Using the property a1 = % for every natural number a, we have (%) =2and (74 = T7' We have to find the number x such that

2x = _77
Dividing both sides by 2, we get

_ =7
X= %

. . =7
Hence, the required number is ——

Question 8. By what number should (—15)_l be multiplies so that the product may be equal to (—5)_l

Answer:
. - -1 -1

Using the property a~! = % for every natural number a, we have (—15) ~ = —% and (—5) = —%A We have to find a number x such that
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Or X 3

Hence, (—15)_1 should be divided by % to obtain (—5)_1.



